AFR1 (AFHERER, MEVEERENETER, BRIFNERRE U RERMERR)

REEDORE
[Fhul &
HEFEE e FiEt B
BERER %158 —
NN - LBIENE | xpme | memEn | SRR RixH
% % % %
2% ElERAX 1&l 8.44 1.8 — 1.32
2% 5.45 5.1 — 0.90
3% 3. 36 3.4 — 0. 51
4% ElERAX 12 10. 01 9.2 - 1.56
2% 6. 46 6.1 — 1.07
3% 3.98 4.1 — 0.60




H£FBHIDESE

[Fhul &
HER R 5 et B
ERBR ERLS) ERBRERSD
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 At B
ERBR ERLS) ERBREED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) et B
ERBR ERLS) ERBRHAT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 HEEL)
ERBR ERLS) R BRFARD
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 et B
ERBR RS ERBREAT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) At B
ERBR RS ERBREED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 et B
ERBR ERLS) ERBRmZ RN
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 1. 61 1.2 - 1.06
2% 0.52 1.0 - 0.29
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 7.09 2.0 - 5.52
2% 4.92 1.5 - 3.97
3| 3.16 1.2 - 2.56
HER R 5 et B
ERBR ERLS) ERBREAT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) Heat
ERBR ERLS) ERBRER/IAD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 At B
ERBR RS ERBREEED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 et B
ERBR RS ERBRERTD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) RLEE)
ERBR RS ERBRZEM
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[EhivL &
EZBE T IR A Hhigk HET B bl
BRER £ 1RXig ERERWE EZHEAKREFH
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
o%8 g4 T v RAR 1E| 3.49 1.5 - 2.57
2 E| 1.98 1.1 — 1.53
3 E| 1.19 1.0 — 0.94
1048 g/ Ty o XAR 1E| 2.52 1.3 — 1.84
2 F| 1.61 1.0 — 1.34
3 E| 1.09 1.0 — 0.84
EZBERTIE A Hh iz AT B bl
BRER % 1RXig BREEmSDEM
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
o%8 g4 T v RAR 1E| 0.73 1.1 - 0.39
2 E| 0.07 0.9 — 0.01
3 E| 0.03 0.9 — 0.01
1048 higif4 Ty o XAR 1E| 0.91 1.2 — 0.39
2 F| 0.04 0.9 — 0.01
3 E| 0.03 0.9 — 0.01
EEFEA Hhiz et B thisg
BRER % 1RXig BREEEHSE
T SEas | e | xEme | memER | BERH | ARY
spamns | BEE B EE R R
% % % %
o%8 g4 T v RAR 1E| 0.73 1.1 - 0.39
2 E| 0.07 0.9 — 0.01
3 E| 0.03 0.9 — 0.01
1048 g/ Ty o XAR 1E| 0.91 1.2 — 0.39
2 F| 0.04 0.9 — 0.01
3 E| 0.03 0.9 — 0.01




H£FBHIDESE

[Fhul &
HER R 5 et B
ERBR ERLS) ERBREZM
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 et B
ERBR ERLS) ERBRHEANMD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) RLLE)
ERBR ERLS) ERBREFED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 et B
ERBR ERLS) ERBREED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 et B
ERBR ERLS) ERBRERBE= B
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *77:&*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) RLLE)
ERBR ERLS) ERBRERBHTBH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ *ﬁ:ﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

Fnl &
H#HIERT R 4 g HRET B AL
ERER £ 1RXE BERESREEME DEH
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% igi4A T v RAK 18 0.73 1.1 - 0.39
2 F| 0.07 0.9 — 0.01
3 &l 0.03 0.9 — 0.01
1058 g4 T v RARK 18 0.91 1.2 — 0.39
2 & 0.04 0.9 — 0.01
3E| 0.03 0.9 — 0.01
H#HIERT R4 g HRET B AL
ERER £ 1RXE RS R HKEE SHET
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEMEER R R
% % % %
9% igi4A T v RAK 18 0.42 1.0 - 0.19
2 Z| 0.04 0.9 — 0.01
3 &l 0.03 0.9 — 0.01
1058 g4 T v RARK 18 3.39 1.5 — 2.49
2 & 1.60 1.1 — 1.16
3E| 0.35 1.0 — 0.13
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE IR &R ia RAREKHET
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
9% igi4A T v RAK 18 0.73 1.1 - 0.39
2 Z| 0.07 0.9 — 0.01
3 &l 0.03 0.9 — 0.01
1058 g4 T v RARK 18 0.91 1.2 — 0.39
2 Z| 0.04 0.9 — 0.01
3E| 0.03 0.9 — 0.01




H£FBHIDESE

[Fhul &
HER R 5 et B
ERBR RS B & R E AR AT
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 Het B
ERBR ERLS) BEUR B AT R o8 BT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *77:&*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) CRLLE)
ERBR ERLS) BER B AT AL GR LAY
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 2.17 1.2 - 1.61
2% 0.99 1.1 - 0.57
3% 0.05 0.9 - 0.01
1055 Hug A VT v AAR 1 & 1.31 1.2 - 0.77
2 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 Het B e
ERBR ERLS) BE R B R S e A BT
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *ﬁ:ﬁ*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 1.53 1.2 - 0.99
2% 0.70 0.9 - 0.55
3 0.42 0.9 - 0.28
1055 g A Ty AAR 1 & 3.83 1.1 - 3.32
2% 3.00 1.1 - 2.52
3| 2.22 1.1 - 1.83
HER R 5 et B
ERBR ERLS) BER B AT (AT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) L L)
ERBR RS ERBREEHPETH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ *ﬁ:ﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 1.11 1.1 - 0.75
2% 0.57 0.9 - 0.43
3 0.27 0.9 - 0.14
1055 Hug A VT v AAR 1 & 3.54 1.7 - 2.39
2% 1.49 1.2 - 0.95
3 & 0.27 0.9 - 0.14




H£FBHIDESE

[Fhul &
HER R 5 Heat B e
ERBR RS L e b
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *ﬁ:ﬁ*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 4.11 1.8 - 2.84
2% 1.99 1.1 - 1.54
3% 0.76 1.0 - 0.56
1055 g A Ty AAR 1 & 4.70 1.6 - 3.63
2% 2.76 1.2 - 2.18
3| 1.52 1.1 - 1.12
HER R 5 et B e
ERBR RS BRB R EHE A BT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *77:&*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) L LE)
ERBR ERLS) BER B R BE AR
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 et B
ERBR ERLS) ERBRXBHTR
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 et B e
ERBR ERLS) R B R X BE AR FAT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) L L)
ERBR ERLS) BEUR B K B BT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 et B e
ERBR ERLS) ERBRKBHESA
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 et B e
ERBR ERLS) BB B B 48 2 BT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) L LE)
ERBR ERLS) BER B K B AT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
9% A Ty AARX 1] 0.89 1.0 - 0.65
2% 0. 36 0.9 - 0.22
3% 0.03 0.9 - 0.01
1055 Hug A VT v AAR 1 & 0.72 1.2 - 0.20
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

[Fhul &
HER R 5 et B
ERBR ERLS) BER B R K B EGHILET
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
9% A Ty AARX 1] 0.73 1.1 - 0.39
2% 0.07 0.9 - 0.01
3% 0.03 0.9 - 0.01
1055 g A Ty AAR 1 & 0.91 1.2 - 0.39
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R 5 et B
ERBR ERLS) BER B K B E LAY
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
9% A Ty AARX 1] 1.79 1.3 - 1.12
2% 0.52 0.9 - 0.38
3% 0.22 0.9 - 0.09
1055 g A Ty AAR 1 & 0.81 1.1 - 0. 40
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01
HER R ) L L)
ERBR ERLS) BRBRKBHAER
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
9% A Ty AARX 1] 2.817 1.6 - 1.85
2% 0.95 1.0 - 0.7
3% 0.33 0.9 - 0.19
1055 Hug A VT v AAR 1 & 0.58 1.1 - 0.17
2% 0.04 0.9 - 0.01
3| 0.03 0.9 - 0.01




H£FBHIDESE

Fnl &
H#HIERT R 4 g HRET B AL
ERER £ 1RXE ERER XS5 HHET
ams | mmmx | 00 | sme | ApwEs | mEmR | EEH
sprmns || BEE BEWEE EpE R
% % % %
9% igi4A T v RAK 18 0.73 1.1 - 0.39
2 F| 0.07 0.9 — 0.01
3 &l 0.03 0.9 — 0.01
1058 g4 T v RARK 18 0.91 1.2 — 0.39
2 & 0.04 0.9 — 0.01
3E| 0.03 0.9 — 0.01
ERE fiT IR 4 Hh i3 #iEt B hig
ERER £ 1RXE =R
ams | mmmx | o0 | sme | AwEs | mEmR | EEH
spamn s || BEE BEWEE R R
% % % %
9% igi4A T v RAK 18 0.41 1.1 - 0.10
2 Z| 0.04 0.9 — 0.01
3 &l 0.03 0.9 — 0.01
1058 g4 T v RARK 18 0.19 0.9 — 0. 06
2 & 0.04 0.9 — 0.01
3E| 0.03 0.9 — 0.01




HFBHIDIESE

x=
TERRE e Frr B
ERER 51X —
L | O
—_— cmam | CPPUEREIE L same | mpman | mERS Rk
e > S IR E AT RER PEBEE Hpgk HpER
% % % %
18 ElERAX 12 11.01 1.8 - 3.69
2% 1.97 5.6 — 2.83
3% 5.78 4.4 — 1.88
FHEzRAX 2% 9.26 6.6 — 3.07
3% 6.40 4.8 — 2.05
4 F| 4.24 3.6 - 1.19




H£FBHIDESE

=
H#HIERT R 4 g HRET B AL
ERER £ 1RXE ERERERET
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 12| 8.03 1.8 - 6.64
2| 6.10 1.5 — 51
3| 4.22 1.3 — 3.50
7% igi4f T v o RAK 12| 4.57 2.0 - 3.07
2% 2.01 1.1 — 1.63
3| 1.31 1.0 — 1.05
H#HIERT R4 g HRET B AL
ERER £ 1RXE ERERERET
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
6 %8 igi4A T v RAK 12| 7.98 2.3 - 6. 05
2| 5.28 1.6 — 4.19
3| 3.26 1.3 — 2.54
7% igif T v RAK 12| 6.78 1.8 - 5.43
2% 4.74 1.5 — 3.79
3| 2.73 1.3 — 2.03
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EREEMEGT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE B EE R R
% % % %
6 %8 igi4A T v RAK 12| 3. 61 1.6 - 2.57
2| 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
7% igif T v RAK 12| 3.43 1.6 - 2.4
2% 1. 47 1.1 — 1.05
3| 0. 60 0.9 — 0.45




H£FBHIDESE

x=
HER R 5 HEEL)
ERBR ERLS) R BRFARD
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 5.18 1.8 - 3.90
2% 3.23 1.3 - 2.52
3 1.84 1.1 - 1.39
74 A Ty AARX 1 &) 5.69 1.8 - 4.37
2% 3.43 1.3 - 2.71
3 & 1.90 1.1 - 1.45
HER R 5 et B
ERBR ERLS) ERBREAT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 1.94 3.0 - 5. 31
2% 4.71 1.6 - 3.70
3 2.53 1.3 - 1.84
74 A Ty AARX 1 &) 3.75 1.7 - 2.58
2% 1.87 1.1 - 1.49
3 & 1.04 1.1 - 0.69
HER R ) At B
ERBR ERLS) ERBREED
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 4.31 1.6 - 3.25
2% 2.14 1.5 - 1.28
3 0.59 0.9 - 0.45
74 A Ty AARX 1 &) 4.25 1.6 - 3.19
2% 1.98 1.3 - 1.31
3 & 0.59 0.9 - 0.45




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
ERER £ 1RXE EBRERAzZERT
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 3. 61 1.6 - 2.57
2 F| 1.77 1.2 — 1.22
3 &l 0.69 1.0 — 0.45
7% igi4f T v o RAK 18 3. 61 1.6 - 2.57
2 & 1.77 1.2 — 1.22
3E| 0.69 1.0 — 0.45
H#HIERT R4 g HRET B AL
ERER £ 1RXE EBREREKT
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEMEER R R
% % % %
6 %8 igi4A T v RAK 18 5.78 1.6 - 4.67
2 Z| 3.91 1.6 — 2.86
3 &l 1.86 1.1 — 1.48
7% igif T v RAK 18 4.10 1.5 - 3.17
2 & 2.43 1.1 — 1.96
3E| 1.44 1.0 — 1.18
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE BERESREE)INT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
6 %8 igi4A T v RAK 18 8. 31 1.8 - 6. 91
2 Z| 6.32 1.6 — 5. 21
3 &l 4.63 1.3 — 3.87
7% igif T v RAK 18 5.77 2.3 - 3.94
2 Z| 3.06 1.5 — 2.17
3E| 1.25 1.1 — 0.89




H£FBHIDESE

x=
HER R 5 At B
ERBR ERLS) ERBREEED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 6.33 1.9 - 4.91
2% 4.07 1.3 - 3.33
3 2.75 1.1 - 2.34
74 A Ty AARX 1 &) 5.30 2.1 - 3.68
2% 2.73 1.1 - 2.25
3 & 1.81 1.0 - 1.54
HER R 5 et B
ERBR ERLS) ERBRERTD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 6. 56 1.6 - 5.43
2% 4.91 1.5 - 3.96
3% 3.00 1.1 - 2.60
74 A Ty AARX 1 &) 4.08 1.6 - 3.03
2% 2.12 1.2 - 1.56
3| 0.76 0.9 - 0. 61
HER R ) RLEE)
ERBR ERLS) ERBRZEM
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 5.13 1.8 - 3.83
2% 2.95 1.3 - 2.24
3% 1.56 1.1 - 1.19
74 A Ty AARX 1 &) 3.43 1.5 - 2.53
2% 1.91 1.1 - 1.46
3| 0.85 1.0 - 0. 61




H£FBHIDESE

XK=
EFESR Hhig; RET B ihisg
EREE % 1R EREEWSZEKREFH
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6%8 g4 T v AARK 1Z| 5.56 1.8 — 4.25
2F| 3.09 1.3 — 2.38
3F| 1.69 1.1 — 1.25
7%8 g4 T v AARK 1Z| 4.69 1.8 — 3.4
2F| 2.37 1.2 — 1.80
3F| 1.19 1.0 — 0.94
EFFESR Hhig; RET B ihisg
EREE % 1R EREEmEDFEM
_— st | NS | same | mewEs | BERAM | EBE
sxpamns || BEE BEWEE R R
% % % %
6%8 g4 T v AARK 1Z| 1.77 2.0 — 6.16
2F| 5.44 2.0 — 3.91
3F| 2.26 1.3 — 1.58
7%8 g4 T v AARK 1Z| 6.73 1.8 — 5.38
2F| 4.65 1.8 — 3.37
3F| 1.97 1.1 — 1.52
EEFTIES iz EaT B S Hhisg
EREE %1 R EREEERE
_— st | NS | same | mewEs | BERAM | EBE
spamns | BEE B EE R R
% % % %
6%8 g4 T v AARK 1Z| 4.26 1.6 — 3.20
2F| 2.23 1.3 — 1.55
3F| 0.80 0.9 — 0.65
7%8 g4 T v AARK 1Z| 4.30 1.8 — 3.03
2F| 2.08 1.1 — 1.63
3F| 0.95 1.0 — 0.71




H£FBHIDESE

=
H#HIERT R 4 g HRET B AL
ERER £ 1RXE BREREXM
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 12| 3. 61 1.6 - 2.57
2| 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
7% igi4f T v o RAK 12| 3. 61 1.6 - 2.57
2% 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
H#HIERT R4 g HRET B AL
ERER £ 1RXE EREEBAMT
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
6 %8 igi4A T v RAK 12| 5.42 1.7 - 4.21
2| 3.57 1.3 — 2.84
3| 1.80 1.1 — 1.35
7% igif T v RAK 12| 5.32 1.7 - 4.13
2% 3.39 1.3 — 2.70
3| 1.93 1.2 — 1.37
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EBRERFET
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE B EE R R
% % % %
6 %8 igi4A T v RAK 12| 4.17 1.7 - 3.02
2| 2.01 1.1 — 1.58
3| 1.13 1.1 — 0.77
7% igif T v RAK 12| 2.85 1.3 - 2.15
2% 1.25 1.1 — 0. 86
3| 0.52 1.0 — 0.29




H£FBHIDESE

x=
HER R 5 et B
ERBR % 1 Kig ERBREED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
64 A Ty AARX 1] 3.90 2.0 - 2.42
2% 1.39 1.2 - 0.85
3% 0.28 0.9 - 0.15
74 A Ty AARX 1 &) 3.38 1.5 - 2.48
2% 1.80 1.2 - 1.25
3 & 0.64 1.1 - 0.30
HER R 5 et B
ERBR ERLS) ERBRERBE= B
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *77:&*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 0.69 1.0 - 0.45
74 A Ty AARX 1 &) 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 & 0.69 1.0 - 0.45
HER R ) RLLE)
ERBR ERLS) ERBRERBHTBH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *77:&*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 0.69 1.0 - 0.45
74 A Ty AARX 1 &) 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 & 0.69 1.0 - 0.45




H£FBHIDESE

x=
HER R 5 et B e
ERBR ERLS) ERBRERERS DFAl
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 8.42 2.7 - 6.07
2% 5.45 1.5 - 4.45
3% 3. 60 1.3 - 2.81
74 A Ty AARX 1 &) 1.20 2.3 - 5.32
2% 4.58 1.5 - 3. 64
3| 2.83 1.1 - 2.35
HER R 5 et B
ERBR RS B & R E KRBT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 4.98 1.6 - 3.90
2% 3.19 1.3 - 2.48
3% 1.81 1.1 - 1.36
74 A Ty AARX 1 &) 4.98 1.6 - 3.90
2% 3.19 1.3 - 2.48
3| 1.81 1.1 - 1.36
HER R ) L)
ERBR ERLS) BEUR B R0 BN KT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 4.72 1.6 - 3.65
2% 2.62 1.1 - 2.15
3% 1.78 1.0 - 1.51
74 A Ty AARX 1 &) 2.58 1.4 - 1.80
2% 0.93 1.1 - 0.58
3| 0.20 0.9 - 0.07




H£FBHIDESE

=
H#HIERT R 4 g HRET B AL
ERER £ 1RXE IR B8 B M AR K I HT
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 12| 4.89 1.5 - 3.94
2| 3.17 1.2 — 2.57
3| 1.87 1.1 — 1.42
7% igi4f T v o RAK 12| 3.92 1.8 - 2.67
2% 2.04 1.1 — 1.65
3| 1.23 1.1 — 0.87
H#HIERT R4 g HRET B AL
ERER £ 1RXE ERSEFEMRSE RET
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
6 %8 igi4A T v RAK 12| 2.73 1.5 - 1.82
2| 1.22 1.1 — 0.79
3| 0. 31 1.0 — 0.09
7% igif T v RAK 12| 2.73 1.5 - 1.82
2% 1.22 1.1 — 0.79
3| 0. 31 1.0 — 0.09
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EREE IR IHT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE B EE R R
% % % %
6 %8 igi4A T v RAK 12| 5.48 1.5 - 4.51
2| 4.01 1.2 — 3.39
3| 2.72 1.2 — 2.14
7% igif T v RAK 12| 4.03 1.5 - 3.1
2% 2.48 1.2 — 1.91
3| 1.42 1.1 — 1.05




H£FBHIDESE

x=
HER R 5 Het B e
ERBR ERLS) BE R B R S e A BT
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ *77:&*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 3.20 1.5 - 2.30
2% 1.55 1.2 - 1.01
3 0.45 1.0 - 0.22
74 A Ty AARX 1 &) 2.12 1.3 - 1.47
2% 0.98 1.1 - 0.63
3| 0. 36 0.9 - 0.22
HER R 5 et B
ERBR ERLS) BER B AT (AT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 6. 34 1.7 - 5.10
2% 4.76 1.2 - 4.1
3% 3.73 1.1 - 3.29
74 A Ty AARX 1 &) 5.52 1.4 - 4.62
2 4.17 1.1 - 3.65
3 & 3. 47 1.0 - 3.14
HER R ) L L)
ERBR ERLS) ERBREEHPETH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ *ﬁ:ﬁ*& = $ £EE$ EEIE$
% % % %
64 A Ty AARX 1] 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 0.69 1.0 - 0.45
74 A Ty AARX 1 &) 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 & 0.69 1.0 - 0.45




H£FBHIDESE

x=
HER R 5 Heat B e
ERBR RS L e b
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ *77:&*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 0.69 1.0 - 0.45
74 A Ty AARX 1 &) 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 & 0.69 1.0 - 0.45
HER R 5 et B e
ERBR RS BRB R EHE A BT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *77:&*& = $ §EE$ §EE$
% % % %
6% A Ty AARX 1] 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 0.69 1.0 - 0.45
74 A Ty AARX 1 &) 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 & 0.69 1.0 - 0.45
HER R ) L LE)
ERBR ERLS) BER B R BE AR
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
64 A Ty AARX 1] 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 0.69 1.0 - 0.45
74 A Ty AARX 1 &) 3. 61 1.6 - 2.57
2% 1.77 1.2 - 1.22
3 & 0.69 1.0 - 0.45




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
ERER £ 1RXE EREEXEMFEN
axn | smmm | o ooon | owEme | aemEw | m@Es | ERG
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 3. 61 1.6 - 2.57
2 F| 1.77 1.2 — 1.22
3 &l 0.69 1.0 — 0.45
7% igi4f T v o RAK 18 3. 61 1.6 - 2.57
2 & 1.77 1.2 — 1.22
3E| 0.69 1.0 — 0.45
H#HIERT R4 g HRET B AL
ERER £ 1RXE EREE XS T NET
mxn | smmm | o ooon | owaEme | aemEw | m@Es | ERG
spmEs s | EE SRBEER 2R R
% % % %
6 %8 igi4A T v RAK 18 3. 61 1.6 - 2.57
2 Z| 1.717 1.2 — 1.22
3 &l 0.69 1.0 — 0.45
7% igif T v RAK 18 3. 61 1.6 - 2.57
2 & 1.77 1.2 — 1.22
3E| 0.69 1.0 — 0.45
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE IR 58 KX 5 AR AE AT
s | mmax | oenn | REme | mEmEw | mRmR | REe
spmEEs s | EE BEWEE R R
% % % %
6 %8 igi4A T v RAK 18 3. 61 1.6 - 2.57
2 Z| 1.717 1.2 — 1.22
3 &l 0.69 1.0 — 0.45
7% igif T v RAK 18 3. 61 1.6 - 2.57
2 Z| 1.77 1.2 — 1.22
3E| 0.69 1.0 — 0.45




H£FBHIDESE

=
H#HIERT R 4 g HRET B AL
ERER £ 1RXE EREEXSMEFAT
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 12| 3. 61 1.6 - 2.57
2| 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
7% igi4f T v o RAK 12| 3. 61 1.6 - 2.57
2% 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
H#HIERT R4 g HRET B AL
ERER £ 1RXE EREBEXEME 2 ST
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
6 %8 igi4A T v RAK 12| 3. 61 1.6 - 2.57
2| 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
7% igif T v RAK 12| 3. 61 1.6 - 2.57
2% 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE ERERXSAR AT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE B EE R R
% % % %
6 %8 igi4A T v RAK 12| 3. 61 1.6 - 2.57
2| 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45
7% igif T v RAK 12| 3. 61 1.6 - 2.57
2% 1.717 1.2 — 1.22
3| 0.69 1.0 — 0.45




H£FBHIDESE

XK=
H#HIERT R 4 g HRET B AL
ERER £ 1RXE EREE XS FET
axn | smmm | o ooon | owEme | aemEw | m@Es | ERG
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*&%$ gﬁi&'$ gﬁi&'$
% % % %
6 %8 igi4A T v RAK 18 3. 61 1.6 - 2.57
2 F| 1.77 1.2 — 1.22
3 &l 0.69 1.0 — 0.45
7% igi4f T v o RAK 18 3. 61 1.6 - 2.57
2 & 1.77 1.2 — 1.22
3E| 0.69 1.0 — 0.45
H#HIERT R4 g HRET B AL
ERER £ 1RXE EREEXEAFRET
mxn | smmm | o ooon | owaEme | aemEw | m@Es | ERG
spmEs s | EE SRBEER 2R R
% % % %
6 %8 igi4A T v RAK 18 3. 61 1.6 - 2.57
2 Z| 1.717 1.2 — 1.22
3 &l 0.69 1.0 — 0.45
7% igif T v RAK 18 3. 61 1.6 - 2.57
2 & 1.77 1.2 — 1.22
3E| 0.69 1.0 — 0.45
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE ERER XS HT
s | mmax | oenn | REme | mEmEw | mRmR | REe
spmEEs s | EE BEWEE R R
% % % %
6 %8 igi4A T v RAK 18 3. 61 1.6 - 2.57
2 Z| 1.717 1.2 — 1.22
3 &l 0.69 1.0 — 0.45
7% igif T v RAK 18 3. 61 1.6 - 2.57
2 Z| 1.77 1.2 — 1.22
3E| 0.69 1.0 — 0.45




H£FBHIDESE

x=
HER R 5 et B
ERBE ERLS) ER&EABHE R
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;:t_;ﬁl'sﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
64 A Ty AARX 1] 3. 61 1.6 - 2.57
2% 1.71 1.2 - 1.22
3 0.69 1.0 - 0.45
74 A Ty AARX 1 &) 3. 61 1.6 - 2.57
2% 1.71 1.2 - 1.22
3 & 0.69 1.0 - 0.45
HER R 5 FET B b,
ERBE ERLS) ERBE
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
;:t_;ﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
e MEALFyoRAR 1) 0.15 0.9 - 0.02
2% 0.04 0.9 - 0.01
3% 0.03 0.9 - 0.01




EFEOOUR
ING
B R B L)
ERSR ERL-S ERER
NN S TRBERE | smme | memaw | BEmRM RIEH
RS % wxmrmns | BEE | megEx | iws Bt
% % % %
- A Ty RAARX 18| 6.28 1.6 - 5.16
2 4.52 1.3 - 3.76
3 & 3.09 1.1 -

2.60




HFBHIDIESE

EE5%0
TERRE e Frr B
ERER 51X —
L =y A
—_— cmam | CPPUEREIE L same | mpman | mERS Rk
R > IR AR S BAER DRBEE Hpx Hpgs
% % % %
- ElERAX 2% 4.4 3.5 — 1.5
3% 2.4 2.2 — 0.9
4 F| 1.3 1.6 — 0.3




EEEBORE
TE5F0
BERRE g LT
ERBR ERL ERBR
NN S TIRBIEHE | smme | memEw | SRR RIH
T =% wp s || REE R AR s
% % % %
- iAo Ty RAAR 13 2.73 1.5 - 1.85
2% 0.93 1.0 - 0.69
3% 0.32 1.0 - 0.10




EFEBORE
S
BERRE g LT
ERBR ERL ERBR
NN I XIBEHE | smme | mepay | BRBRY RIH
. = sppEEns | AR SEE EpiE EyE
% % % %
74 A Ty AARX 18| 0.06 0.9 - 0.02
2% 0.04 0.9 - 0.01
3% 0.03 0.9 - 0.01




H£FBHIDESE

ZzIE
H#HIERT R 4 g HRET B AL
ERER £ 1RXE ERERERET
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 T v RARK 18 9.23 1.6 — 8.01
2| 7.90 1.5 — 6. 85
3| 6. 41 1.3 — 5.59
4 %5 igi4f T v o RAK 12| 8.01 1.5 - 6. 96
2% 6.70 1.5 — 5.69
3| 5.16 1.2 — 4.50
H#HIERT R4 g HRET B AL
ERER £ 1RXE ERERERET
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
3% g4 T v RARK 18 8.98 1.8 — 7.56
2| 7.06 1.6 — 5.91
3| 5.03 1.5 — 4.07
4 %8 igif T v RAK 12| 8. 46 1.6 - 1.27
2% 6. 89 1.6 — 5.75
3| 5.04 1.5 — 4.08
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EREEMEGT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE B EE R R
% % % %
3% g4 Ty RARK 18 9.82 2.0 — 8.15
2| 7. 86 1.6 — 6. 69
3| 5.93 1.5 — 4.94
4 %8 igif T v RAK 12| 8.03 1.8 - 6.64
2% 6.13 1.5 — 5.14
3| 4.68 1.2 — 4.03




H£FBHIDESE

zIE
H#HIERT R 4 g HRET B AL
ERER £ 1RXE EREERMART
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 T v RARK 18| 7.56 2.0 — 5.96
2 F| 5.19 1.5 — 4.23
3 &l 3.50 1.1 — 3.00
4 %5 igi4f T v o RAK 18 8.1 2.0 - 6. 49
2 & 5.75 1.5 — 4.71
3E| 3.96 1.3 — 3.22
H#HIERT R4 g HRET B AL
ERER £ 1RXE ERERH KT
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEMEER R R
% % % %
3% g4 T v RARK 18| 9.33 2.3 — 7.35
2 Z| 6. 59 2.0 — 5.02
3 &l 3.67 1.6 — 2. 64
4 %8 igif T v RAK 18 51N 1.6 - 4.61
2 & 3. N 1.3 — 2.98
3E| 1.96 1.1 — 1. 51
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EBRERERET
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
3% g4 Ty RARK 18| 9.63 2.6 — 7.34
2 Z| 6.84 2.0 — 5.29
3 &l 4.39 1.4 — 3.54
4 %8 igif T v RAK 18 9.10 2.6 - 6.83
2 Z| 6. 21 2.0 — 4.65
3E| 3.73 1.3 — 3.03




H£FBHIDESE

zIE
H#HIERT R 4 g HRET B AL
ERER £ 1RXE EBRERAzZERT
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 T v RARK 18| 9.15 1.8 — 1.72
2 F| 7.31 1.8 — 5.96
3 &l 5.30 1.5 — 4.33
4 %5 igi4f T v o RAK 18 7.95 1.8 - 6. 56
2 & 5.88 1.5 — 4.90
3E| 4.23 1.3 — 3.48
H#HIERT R4 g HRET B AL
ERER £ 1RXE EBREREKT
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEMEER R R
% % % %
3% g4 T v RARK 18| 8.54 2.0 — 6.91
2 Z| 6.19 1.8 — 4.86
3 &l 3.95 1.5 — 3.03
4 %8 igif T v RAK 18 9.78 2.0 - 8. 11
2 & 1.67 1.8 — 6.29
3E| 5.31 1.6 — 4.22
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE BERESREE)INT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE REWEE R R
% % % %
3% g4 Ty RARK 18| 9.19 1.8 — 7.76
2 Z| 7.35 1.8 — 5.98
3 &l 5.18 1.5 — 4.22
4 %8 igif T v RAK 18 1.25 1.4 - 6.29
2 Z| 6.07 1.3 — 5.26
3E| 4.74 1.3 — 3.98




H£FBHIDESE

ZiE
HER R 5 At B
ERBR ERLS) ERBREEED
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3 A Ty AARX 1] 10. 20 2.1 - 8.42
2% 1.96 1.6 - 6.78
3% 6.02 1.5 - 5.03
4% A Ty AARX 1 &) 10.18 1.7 - 8.83
2% 8.75 1.6 - 1.55
3% 1.01 1.6 - 5. 86
HER R 5 et B
ERBR ERLS) ERBRERTD
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
3 A Ty AARX 1] 10.79 1.8 - 9.31
2% 9.17 1.8 - 1.74
3% 1.25 1.6 - 6.10
4% A Ty AARX 1 &) 9.07 1.8 - 7.64
2% 1.32 1.6 - 6.16
3 & 5.59 1.3 - 4.80
HER R ) RLEE)
ERBR ERLS) ERBRZEM
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 8. 42 18 - 7.01
2% 6.45 1.6 - 5.32
3 4.28 1.5 - 3.35
4% A Ty AARX 1 &) 1.13 1.6 - 5.98
2% 5.33 1.5 - 4.36
3 & 3.42 1.2 - 2.82




H£FBHIDESE

rary
EFESR Hhig; RET B ihisg
EREE % 1R EREEWSZEKREFH
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3%F g4 T v AARK 1Z| 10. 37 1.8 — 8.90
2F| 8.68 1.8 — 7.29
3F| 6.73 1.5 — 5.72
4 %7 g4 T v AARK 1Z| 9.27 1.6 — 8.05
2F| 7.80 1.6 — 6.63
3F| 5.88 1.5 — 4.90
EFFESR Hhig; RET B ihisg
EREE % 1R EREEmEDFEM
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
3%F g4 T v AARK 1Z| 10. 97 2.7 — 8.53
2F| 7.96 1.6 — 6.78
3F| 6. 34 1.3 — 5.52
4%7 g4 T v AARK 1Z| 9.53 2.2 — 7.65
2F| 1.20 1.6 — 6. 05
3E| 5.45 1.5 — 4.48
EEFTIES iz EaT B S Hhisg
EREE %1 R EREEERE
_— smpx | US| same | mrpEE | BERM | gBM
spamns | BEE B EE R R
% % % %
3%F g4 T v AARK 1Z| 10. 19 1.8 — 8.73
2F| 8.54 1.8 — 7.13
3F| 6. 54 1.5 — 5.53
4%7 g4 T v AARK 1Z| 8.56 1.8 — 7.15
2F| 6. 63 1.5 — 5.59
3F| 5.1 1.3 — 4.33




H£FBHIDESE

ZzIE
H#HIERT R 4 g HRET B AL
ERER £ 1RXE BREREXM
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 T v RARK 18 9.08 1.8 — 7.65
2| 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
4 %5 igi4f T v o RAK 12| 9.08 1.8 - 7.65
2% 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
H#HIERT R4 g HRET B AL
ERER £ 1RXE EREEBAMT
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
3% g4 T v RARK 18 9.30 2.3 — 1.32
2| 6. 95 1.5 — 5.93
3| 5.30 1.3 — 4.52
4 %8 igif T v RAK 12| 9.09 1.8 - 7.66
2% 1.42 1.5 — 6. 39
3| 5.92 1.3 — 5.12
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EBRERFET
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE B EE R R
% % % %
3% g4 Ty RARK 18 7.78 1.6 — 6. 61
2| 6.17 1.5 — 5.18
3 &l 4.41 1.4 — 3.56
4 %8 igif T v RAK 12| 8.98 1.9 - 7.45
2% 7.00 1.7 — 5.73
3| 5.03 1.4 — 4.16




H£FBHIDESE

ZzIE
H#HIERT R 4 g HRET B AL
ERER £ 1RXE ERERKRT
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 T v RARK 18 7.33 2.0 — 5.74
2| 4.76 1.5 — 3.81
3| 2.94 1.2 — 2.35
4 %5 igi4f T v o RAK 12| 8.55 2.0 - 6.92
2% 6.10 1.6 — 4.98
3| 4.16 1.5 — 3.23
H#HIERT R4 g HRET B AL
ERER £ 1RXE EREREREM=5H
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
3% g4 T v RARK 18 9.08 1.8 — 7.65
2| 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
4 %8 igif T v RAK 12| 9.08 1.8 - 7.65
2% 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EREREEREM+EH
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE BEHEE R R
% % % %
3% g4 Ty RARK 18 9.08 1.8 — 7.65
2| 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
4 %8 igif T v RAK 12| 9.08 1.8 - 7.65
2% 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07




H£FBHIDESE

ZiE
HER R 5 et B e
ERBR ERLS) ERBRERERS DFAl
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 8.76 8 - 7.34
2% 6.84 1.8 - 5.49
3 4.25 1.3 - 3.50
4% A Ty AARX 1 &) 5.52 1.2 - 4.85
2% 4.73 1.1 - 4.19
3 & 3.93 1.1 - 3.42
HER R 5 et B
ERBR ERLS) B & R E KRBT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRHR 1) 8. 64 18 - 7.23
2% 6.83 1.6 - 5.69
3 4.76 1.5 - 3.81
4% A Ty AARX 1 &) 8. 86 1.8 - 1.44
2% 6. 89 1.6 - 5.75
3 & 4.84 1.5 - 3.89
HER R ) L)
ERBR ERLS) BEUR B R0 BN KT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
sE  MEAVFyoRAR 18 7.89 18 - 6.50
2% 6. 05 1.6 - 4.93
3% 3.85 1.3 - 3.12
4% A Ty AARX 1 &) 8.04 1.8 - 6. 65
2% 6. 31 1.5 - 5.31
3 & 4.58 1.5 - 3. 64




H£FBHIDESE

ZzIE
H#HIERT R 4 g HRET B AL
ERER £ 1RXE IR B8 B M AR K I HT
O T e - - - U
sxpaEn s || BEE BEMEER R L
% % % %
3% igi4A T v RAK 12| 13.95 2.3 - 11.82
2| 11. 81 2.0 — 10. 07
3| 9.90 2.0 — 8.22
4 %5 igi4A T v RAK 12| 9.56 2.0 - 7.90
2% 7.36 1.8 — 5.99
3 &l 4.97 1.6 — 3.89
H#HIERT R4 g HRET B AL
ERER £ 1RXE ERSEFEMRSE RET
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
X IR EEAEE| S QAR BERER R R
% % % %
3% igi4A T v RAK 12| 10. 42 1.8 - 8.95
2| 8.80 1.8 — 7.38
3| 6. 65 1.8 — 5.30
4 %5 igi4f T v RAK 12| 9.89 1.8 - 8.44
2% 8.18 1.8 — 6.78
3| 5.97 1.8 — 4. 64
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE EREE IR IHT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
X IR EEAEE| S RAER REWEER R R
% % % %
3% g4 Ty RARK 18| 8.62 2.0 — 6.99
2| 6.48 1.6 — 5.35
3| 4. 61 1.3 — 3.85
4 %8 igif T v RAK 12| 8. 41 2.0 - 6.78
2% 6.18 1.6 — 5.06
3| 4.29 1.3 — 3.54




H£FBHIDESE

ZiE
HER R 5 Het B e
ERBR ERLS) BE R B R S e A BT
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *ﬁ:ﬁ*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 8.92 2.3 - 6.96
2% 6.55 1.6 - 5.42
3 4.66 1.3 - 3.90
4% A Ty AARX 1 &) 8.33 1.8 - 6.93
2% 6.53 1.6 - 5.40
3 & 4.42 1.3 - 3.67
HER R 5 et B
ERBR ERLS) BER B AT (AT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRHR 1) 8. 69 2.3 - 6.73
2% 6.00 1.6 - 4.89
3 3.96 1.5 - 3.04
4% A Ty AARX 1 &) 1.72 1.6 - 6.55
2% 6.09 1.5 - 5.10
3 & 4.35 1.3 - 3. 60
HER R ) L L)
ERBR ERLS) ERBREEHPETH
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ *ﬁ:ﬁ*& = $ £EE$ EEIE$
% % % %
sE  MEAVFyoRAR 18 9.08 18 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07




H£FBHIDESE

ZiE
HER R 5 Heat B e
ERBR RS L e b
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ *77:&*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 9.08 8 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07
HER R 5 et B e
ERBR RS BRB R EHE A BT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ *77:&*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRHR 1) 9.08 18 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07
HER R ) L LE)
ERBR ERLS) BER B R BE AR
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 9.08 18 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07




H£FBHIDESE

ZiE
HER R 5 et B
ERBR ERLS) ERBRXBHTR
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
%,ﬁﬁﬁf}i‘f%ﬁ%ﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
sE  MEAVFyoRAR 18 9.08 8 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07
HER R 5 et B e
ERBR ERLS) R B R X BE AR FAT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRHR 1) 9.08 18 - 7.65
2 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07
HER R ) L L)
ERBR ERLS) BER B Bk B R BT
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=£$ ﬁﬁ*& = $ £EE$ EEIE$
% % % %
sE  MEAVFyoRAR 18 9.08 18 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07




H£FBHIDESE

ZzIE
H#HIERT R 4 g HRET B AL
ERER £ 1RXE EREEXSMEFAT
ams | mmmx | 00 | sme | mpwEs | mEmR | EEH
%,ﬁﬁﬁfﬁﬁﬁﬁﬂé :T:LE$ :T:LE*& = $ gﬁi&'$ gﬁi&'$
% % % %
3% g4 T v RARK 18 9.08 1.8 — 7.65
2| 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
4 %5 igi4f T v o RAK 12| 9.08 1.8 - 7.65
2% 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
H#HIERT R4 g HRET B AL
ERER £ 1RXE EREBEXEME 2 ST
ams | mmmx | 00 | sme | mpwEs | mERR | EEH
sxpamns || BEE BEWEE R R
% % % %
3% g4 T v RARK 18 9.08 1.8 — 7.65
2| 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
4 %8 igif T v RAK 12| 9.08 1.8 - 7.65
2% 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
ERE AT IR 4 Hh 33 #iEt B hig
ERER £ 1RXE ERERXSAR AT
ams | mmmx | o0 | sAme | ApwEs | mEmR | EEH
spamns | BEE B EE R R
% % % %
3% g4 Ty RARK 18 9.08 1.8 — 7.65
2| 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07
4 %8 igif T v RAK 12| 9.08 1.8 - 7.65
2% 1.24 1.8 — 5.89
3| 5.03 1.5 — 4.07




H£FBHIDESE

ZiE
HER R 5 et B
ERBR ERLS) BER B R K B EGHILET
L ]| A
S S SLRIERS | same | memax | BEEA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=LE$ ﬁﬁ*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 9.08 8 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07
HER R 5 et B
ERBR ERLS) BER B K B E LAY
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ §EE$ §EE$
% % % %
sE  MEAVFyoRHR 1) 9.08 18 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07
HER R ) L L)
ERBR ERLS) BRBRKBHAER
L Y| A
S S SLRIERS | same | memax | BREA RIEH)
_;Heiﬁlzﬁggﬁgué 7T=$E$ %LE*& = $ £EE$ §EE$
% % % %
sE  MEAVFyoRAR 18 9.08 18 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07




H£FBHIDESE

Bk
R R S 5 Rt B
ERBE ERALE ER&EABHS BT
L ]| A
S S XIBEHE | smme | mepay | BRBRY R
~ sxmmmns || REE BEREE | RRE A
% % % %

SH MEB(UFyoRFR 1@ 9.08 8 - 7.65
2% 1.24 1.8 - 5.89
3 5.03 1.5 - 4.07
4% A Ty AARX 1 &) 9.08 1.8 - 7.65
2% 1.24 1.8 - 5.89
3 & 5.03 1.5 - 4.07




EFEBOEE
AA—ta—>
BERRE g Heat R
ERBR ERL ERBR
NN I XIBEHE | smme | mepay | BRBRY RIH
. = sppEEns | AR SEE EpiE EyE
% % % %
SE  MEALFYsARK 1M 0.88 11 - 0.46
2% 0.04 0.9 - 0.01
3% 0.03 0.9 - 0.01




EFEEBORE
ERE
BB R RS g Heat R
ERSE ERL ERSE
NN S TIRBIEHE | smme | memEw | SRR RIH
. = sppEEns | AR SEE EpiE EyE
% % % %
- iAo Ty RAAR 13 0.15 0.9 - 0.02
2% 0.04 0.9 - 0.01
3% 0.03 0.9 - 0.01




EFENORE
MIFEL
TERRE ) et B
BRBR B 1R ERBR
. P TIRBIEHE | smme | memEw | SRR RIEH
G PR | apmamas | BEE | BEREE | ERE 2
% % % %
- iAo Ty RAAR 18| 1.39 1.5 - 0.54
2% 0.04 0.9 - 0.01
3% 0.03 0.9 - 0.01




Bk 2 (FERROREZ#S L 7-ihiE)

EERFIE S
EREE
HEBMDIESE BEX 512AK HEFE S Xig
[FhivL & 258 £HEZEAR %1 RXE EREEOR
4 58 £HEZEAR £ 1RKE EREEORE
958 g4 VT v AAR £ 1RKE EREEDR
1048 igiA VT v AAR £ 1RKE EREEDR
K= 158 £HEEAR £ 1RKE EREEDR
EHEEAR £ 1RKE EREEOR
658 igA VT v AAR £ 1RKE EREEDR
758 g4 VT v AAR £ 1RKE EREEOR
8 58 g4 VT v AAR £ 1RKE EREEDR
ING — g4 VT v AAR £ 1RKE EREEDR
TESEFV - EX EoVAE-N £ 1RKE EREEDR
igiA VT v AAR £ 1RKE EREEDR
% 758 g4 VT v AAR £ 1RKE EREEDR
& 3% g4 oTv o AAR F 1 X BREEDORE
458 A T v RARK ¥ 1R EREEDRX
Af—ka—> 358 A T v RARK % 1R EREEDR
f-FhE — A T v RARK % 1R EREEDR
MEL » — A T v RARK % 1R EREEDRX




	46_鹿児島県
	告示-46鹿児島県-01ばれいしょ-1一般.pdf
	告示-46鹿児島県-01ばれいしょ-2インデ.pdf
	告示-46鹿児島県-02大豆-1一般.pdf
	告示-46鹿児島県-02大豆-2インデ.pdf
	告示-46鹿児島県-03小豆-2インデ.pdf
	告示-46鹿児島県-06さとうきび-1一般.pdf
	告示-46鹿児島県-06さとうきび-2インデ.pdf
	告示-46鹿児島県-07茶-2インデ.pdf
	告示-46鹿児島県-08そば-2インデ.pdf
	告示-46鹿児島県-09スイートコーン-2インデ.pdf
	告示-46鹿児島県-10たまねぎ-2インデ.pdf
	告示-46鹿児島県-11かぼちゃ-2インデ.pdf

	別表２_46鹿児島県

